3] £ R EX 19 IAT| 20-295% | 30-39A% | 40-49% | 5O-59#% | 60-69#% |70m ¥4 £
% 410] (90.3%) 0 2 26 135 133 93 21
By L S 216 (93.5%) 0 0 19 74 78 35 10
£ 626| (91.4%) 0 2 45 209 211 128 31
% 14 (3.1%) 0 0 0 3 2 7 2
PR B F] = 8 (3.5%) 0 0 0 2 4 2 0
5 22 (3.2%) 0 0 0 5 6 9 2
% 23 (6.1%) 0 0 2 9 5 6 1
BRBEE | & 6 (2.6%) 0 0 0 1 1 3 1
5 29 (4.2%) 0 0 2 10 6 9 2
% 3 (0.7%) 0 0 0 0 3 0 0
BHEERE | &L 1 (0.4%) 0 0 0 0 1 0 0
3 4 (0.6%) 0] 0 0 0 4 0 0
% 2| (0.4%) 0 0 0 1 0 1 0
FRIER&E Ess 0 (0.0%) 0 0 0 0 0 0 0
5 2 (0.3%) 0 0 0 1 0 1 0
% 2 (0.4%) 0 0 0 0 1 1 0
ER S 0 (0.0%) 0 0 0 0 0 0 0
B 2 (0.3%) 0 0 0 0 1 1 0
% 454 0] 2 28 148 144 108 24
&5t Ess 231 0 0 19 77 84 40 11
=t 685 0 2 47 225 228 148 35
=R
T R R ER 19 IR T| 20-29 %% | 30-39 %% | 40-49 %% | 50-59#% | 60-69 % | 704 24
% 21 (4.6%) 0 0 1 10 4 5 1
ZOEE A 4 7 (3.0%) 0 0 0 0 4 2 1
st 28 4.1%) 0 0 1 10 8 7 2
% 12 2.6%) 0 0 1 3 4 4 0
P RF AZ “ 3 1.3%) 0 0 0 1 1 1 0
st 15 2.2%) 0 0 1 4 5 5 0
5% 2 (0.4%) 0 0 0 1 0 0 1
5 HE “ 0 (0.0%) 0 0 0 0 0 0 0
5 2 (0.3%) 0 0 0 1 0 0 1
% 0 (0.0%) 0 0 0 0 0 0 0
ALFI AR Y — 7 | %« 2 (0.9%) 0 0 0 0 0 2 0
Ey 2 (0.3%) 0 0 0 0 0 2 0
HT 3L AR AE K % 7 1.5%) 0 0 0 1 2 3 1
% 1 0.2%) 0 0 0 0] 1 0 ]
BB AR — 7 4 0 (0.0%) 0 0 0 0 0 0 0]
=t 1 0.1%) 0 0 0 0 1 0 ]
% 1 0.2%) 0 0 0 0 1 0 ]
B G AEE D EE\ | & 1 (0.4%) 0 0 0 0 1 0 ]
=t 2 (0.3%) 0 0 0 0 2 0 ]
5 1 0.2%) 0 0 0 1 0 0 0
AL P9 B B R 2 | 4 0 (0.0%) 0 0 0 0 0 0 0
st 1 0.1%) 0 0 0 1 0 0 0
% 3 0.7%) 0 0 0 0 0 3 0
B IR B MTIR | & 1 (0.4%) 0 0 0 1 0 0 0
st 4 (0.6%) 0 0 0 1 0 3 0
5% 1 0.2%) 0 0 0 0 0 1 0
Z DD TR | 4 1 (0.4%) 0 0 0 1 0 0 0
st 2 (0.3%) 0 0 0 1 0 1 0
% 454 0 2 28 148 144 108 24
32 E AR I 2 231 0 0 19 77 84 40 11
=t 685 0 2 477 225 228 148 35




